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What is she in those days — QY%7 JNIN2 RGN

Overview

The X2 cites a mawn (later in our noon)' which asks; what is the woman’s status in
those days between the giving of the v3 and the husband’s demise. There are
various interpretations as to which case this 7wn is referencing.

= (39 97 10p%) NARY 203 PNT RYIIN INDT 2090992 Y99
>"w1 explained, that this 71wn of 277 NIX2 X7 71 is referencing the Xws9, for

the 1w taught in TARW 3% P79, if a man said to his wife -
- 239901 9139 99 NOD 9NRPY NN QX VI AT 9N DT IVINK NN BN OPNN TV N Y9N

‘Here is your 3 as of today if I die from this sickness’; if he dies it is a valid va.
This concludes the X7, and in the &9°0 the 71wn asks, what is her status all the
days of his sickness is she considered married or divorced -

mooIn asks on *"w1p (here):
= 590 INNRY V) PR R RV M7 N0 29D N33 NYY 7299 (2,59 91 OHNT DY

And there is a difficulty, for the X922 there asks on the ruling, ‘and when she

dies it is a valid v»’? But how can that be ‘for there is no vx after death’! This

concludes the relevant citation from the X723 there. M»0I1n continues with his question -
- 29PN v YN 12 ON ONNN INP N NIUVIP NI

But what is the s'X 12 question, if as " states here that the question N2 X7 71
o1 is referencing the case of "nn ok avn, so when he dies the i is effective
retroactively from his lifetime, so it is not a in°» MR? VI -

mooIn cites s""WI explanation in FARY 1 PI5:
- NYN NYDI NN NN NYN "D NN IND NYT 0903192 w0 0w

IR,

Zmn .

3 This is relevant if someone was w7pn her during this time, is she nwTPn to him, or if she had relations with another
man, are they 217 or not.

* The mwn cites a nponn between 777 M who maintains she is considered an w X nwxX, and >"3 who considered her
DY ORI DWW (she is a R'R poD).

5> How can *0% " 777 ' maintain that she is married (Pp0o2) all this time and the v3 takes effect after the husband’s
death; but this cannot be for a v cannot be effective after the husband dies.

® We would need to explain that *"91 77 ‘1 maintain that nevertheless until he dies, she at that point in time is
considered an (pa0n) X"R, for as of then we do not know if he will die and as of yet he did not die therefore she is an X"X.

7 Presumably mooin is referring to >"%1 on *3wm "7 2,39. See ‘Thinking it over’.

¥ The dispute between > 77 "1 is not in a case where he said o1, for in that case all agree that she is not an X"x
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And there (in 17TIRW " P79) v''w1 explained that the question of the mwn, 'X°7 an
77 INIXY’, is not referencing the case of *nn aX @v» Tv°A 71 77, but rather it is
discussing a separate issue’ —

moon offers his interpretation:
- N NUND NINY NN 113 7099 597 OPNNN IND BT 925 U

And one can say; that really the 71wn (of 2°»°7 10IR2 X°7 1) is referencing the
mwn of "nn ax avnn A 1"°77; and this is the question of the X713, since 7717

said that she is like an X''X until he dies -
- M AINNRY NIN 011 VN YN KXY 19 ON

So it turns out that the v» was not effective in his lifetime (for then she is an

X"X), but rather the v becomes effective after his death
= %0 NNRD V) PR NN V) 2N 239N N 9 15 DN

So therefore how can the 3 be effective when he dies, since 7109 21RY ¥A PN -
- DY NINY NYN 9NIND 2IVUN)

And X271 answered, this is a case where he said, ‘from the time I am in this

world’-
—INHNN ONP HNN NYY VIN 91990 13990 01 YIRY NN VIV

The explanation of s'®27 answer is that when he said 'ay»nn', he meant the w3

should take effect one ‘hour’ before his death -
- DYIYA INY 01NN 153 NIN 9INP UHNN 0010 K17 IND

But he did mean to say actually ‘from today’, but rather he meant from the

day which I am alive -
- ©NN VIN HINYY P9 YYIN IR Innna 9290 NHNY 1197

For since he made the v3 dependent on his death, he was only concerned that
the va take effect while he is alive —

mooIn offers support for his view:
= 09019 792 NV NPT Zxnooina ynwun 12

if he eventually dies 1 *21m.

? This is actually the response of X271 there that the dispute between >"11 7737 1 is in a case where he said Tv° "7
0212 IRY Nyn. 2w vy

1 See »"wn there 172791 71"7 who seems to explain the question exactly in this same manner.

"' The husband in this case does not want to divorce his wife (if he will live), for if he wanted to, he could have just
given her the vx without any stipulation. The reason he gave her the v in this manner was that he was concerned she
should not fall 212°%, so he wants a v (if he should die), but he wants to postpone it as long as possible, therefore we
can interpret the 017 to mean 2°°1n VAT 2IW as late as possible.

124" 7"5. This seems to be the Xno0n cited there in the X713 at the very bottom of 2,3.
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And so to it seems in the Xn2own where it is taught, if a husband says to his wife,

‘here is your v as of today if I die from this sickness’ -
- 9999 Pmyyey Awpna) HNNIYNA INIT DINAY 00N

In the days between his giving the v and dying, the husband has the rights to

whatever she finds and to her handiwork, etc. this concludes the Xnooin -
$9ANRD YNN BNN XY 01NN TIRT 22 9y 98 Pynwun

Implying that even though he said 'a»i»', he did not mean actually 2157, but
rather 0?2192 “IXW Nvn.

Summary
When X217 answered that the dispute between "1 7717 " is in a case where he said

Q913 "IRW Nyn, he meant that when he said n» X o170, that means 09Ww31 IRW nyn.

Thinking it over

Is NdOIN more in agreement with "W here,15 or with >"wm9 in'® wnxw |7‘19?17

" She is considered as being married to him.

14 In the xnooIN it is evident that even when he says 0171, nevertheless the husband is 77 Awyna 7217 (however from
our Xmx we cannot be sure what 2°1°7 7MX2 X7 71 refers to). The reason why he is 121 7 qwyna 797 (she is
considered an X"RX) is because the '01°77' is understood to mean 0712 *IRW NRA.

15 See footnote # 2.

16 See footnote # 7.

7 See TN "waon N # 100-101.
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